DEFENSIVE AND COMPETITIVE BIDDING LEADS AND SIGNALS W B F CONVENTION CARD
OVERCALLS (Style: Responses: 1/2 Level; Reopening) OPENING LEADS STYLE
Natural 5+c Lead In Partner’s Suit CATEGORY:
Cue = invitation+ (eventually without fit) Suit 135 135 NCBO:
NT 135 135 PLAYERS:
Subseq 135 or with(out) interest Same Acéacio Figueiredo (303) / Paulo Cruz (2467)
depending on dummy
Other:
INT OVERCALL (2"9/4™ Live; Responses; Reopening) LEADS SYSTEM SUMMARY
15-17 System ON Lead Vs. Suit Vs.NT
Reop = 11-14 system ON Ace GENERAL APPROACH AND STYLE
King Asks to unblock or counting 5 Major
Queen INT 15-17 bal
Jack 2/1
JUMP OVERCALLS (Style; Responses; Unusual NT) 10
Weak 9
Hi-X
Lo-X

Reopen: Min. opening with 6+c

SIGNALS IN ORDER OF PRIORITY

DIRECT & JUMP CUE BIDS (Style; Response; Reopen) Partner’s Lead Declarer’s Lead Discarding SPECIAL BIDS THAT MAY REQUIRE DEFENSE
Michaels 1JUDCA UDCA Odd/Even 2C = Albarran
(10)-2C=C Suit 2 2D = Multicolor (weak H or S; 22/23 bal)
Reop. 2NT=19-21 bal 3 2H/S = Strong

1 3NT = Gambling
VS. NT (vs. Strong/Weak; Reopening;PH) NT 2|UDCA UDCA Odd/Even
Multi-Landy (2nd) 3
Landy (4™ Signals (including Trumps):
X =to play

DOUBLES

VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids)

TAKEOUT DOUBLES (Style; Responses; Reopening)

X = Take out

NT = Natural [Lebensohl in response to (2x)-X-P]

VS. ARTIFICIAL STRONG OPENINGS- i.e. 1& or 24

SPECIAL FORCING PASS SEQUENCES

SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS

INT-(X)-P = asks for XX (to play or to show disconnected suits)

INT-(X)-XX = Asks to bid 2C (to show one suited hand)

Support X/XX until 2S

OVER OPPONENTS’ TAKEOUT DOUBLE

Take out until 4H

IMPORTANT NOTES

1M-(X)-2C = good support

XX =10+ any

PSYCHICS: rare
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1 3 Walsh; Inv. minors
le 3 (4432)
lv 5 Bergen; Jacoby; 2/1; 2H =8-10; Splinters Negative trials; 1H-INT-2C = 2+c Drury (3); IM-(X)-2C = good sup

IM-2M = 6/8
1a 5
INT 15-17 Bal. Stayman (may have no M); 2D/H=H/S; 2S=mm; vsTr. 3M=Min.4c/others=Max.4c+Doubleton | Lebensohl; X=to play
2NT=m; 3C/D=HHxxxx; 3H/S= Slam try; Smolen;
4C=Gerber; 4D=MM; 4NT=Quant.

Qe X Any GF Albarran 2C-2NT-3NT-4x=nat. ST DOPI if overcall stealing nat resp.
2e X Multicolor 2NT Asks; 3C/D=C/D F1 3S=Max.H.... 2D-(X)-P=D
29 6 Strong 3H=ST with fit and at least 1A
24 6 Strong
2NT 20-21 Bal. (may have 5M) Puppet; 3S=5S+4H; 4C/D= BW C/D; 3D/H=H/S vs.Tr.= accept 2/3¢
34 6 Weak (any strength if P passed)
3e 6 Weak (any strength if P passed)
3w 6 Weak (any strength if P passed)
3a 6 Weak (any strength if P passed)
3NT Gambling 4D= asks short
4 7 Weak (any strength if P passed)
4e 7 Weak (any strength if P passed)
4 7 Weak (any strength if P passed)
44 7 Weak (any strength if P passed)
4ANT
5% HIGH LEVEL BIDDING
5 4ANT=RKC 30/41/2/2+Q / 6x=1A+void
S Q ask >> Return=no; else specific K

Sa

DOPI/ROPI




